Name: ______________________________

IS IT A FUNCTION?
Finish this statement:  From what I remember, a function is:
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       Determine if the relationships stated below represent a function.
a. (x, y) = (boys name, color of hair)
b. (x, y) = (color of hair, boys name)
c. (x, y) = (price of calculator, amount of sales tax)
d. (x, y) = (zip code of student, student height)
e. (x, y) = (miles driven since you last filled up, amount of gas in gas tank)
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With your group, create 3 additional relationships.  Follow the criteria below when creating the relationship.

a. Not A Function

b. Is A Function

c. Is still a function if you exchange the x and y variables.
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	Given f(x) = x2 – 2, find:

f(5)=



f(-5)=



f(a)=


	Given g(x) = 2x + 7, find:

g(4)=



g(-4)=



g(a+b)=
	Given h(x) = -2x2+ 7x - 11, find:
h(2)=



h(2a)=



3h(a+b)=




Challenge:  Given , find  
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Use the graph at right to find each value. Each answer
will be an integer from 1 to 26. Relate each answer to a
letter of the alphabet (1 = A, 2 = B, and so on), and fill
in the name of a famous mathematician.
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f(x)=5x+3

f of x equals 5 times x plus 3.
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Function fis defined by the equation f(x) =
Function g is defined by the graph at right.

Find these values.

a. f(8) b. f(=7)
c g(1) d. g(—2)
e. Find x when g(x) = 0.





